EAGRAROBREERT — 2 N— ABISH —F 2020518198 (H) 14m=H1H

WAl 7 71 FILL—X C2 5% —#% ‘ [%z] #% ‘ [(BErmE] — | 4 (£) 14000 FE
[A&4£] 1 7 :400,000 @ ~ 2 3#&:140,000  ~ 33#&:80,000 ~ 43#%&:60,000™ . 53 :40,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
BEAMEK 132, -1-1- . - EZEE (SH)
1lgli1|Vam/=ov s #H 6 e 1(3_2)0 1-1-1-1 | 40.4 1 ;1_724) ol
LAy agR—-5— B/ <—> KEFHS
255 | *MT«TFd-ILFK # 5 @g%ﬁ 1:(322).4 7885 |39.6| — | 3 | 464 g;}gi‘éﬁ (B)
QT EAfO— BiAU—T #9) | ssenpss
3lglio| ¥ELFET £ 6 Tf’%%% (11312/27> 6-5-5-2 | 40.2 | — 9 ig? ;I%Ei?] (&)
RTHATL MLy h— BiFvLLIEAIY HREM A
P = s 6 | HERSRI 1:32.8 4-4-3-3 | 40.8| — 4 442 | BHEZ (SH)
41719 %7/ —Fz 54.0 (1/2) -7 B
R:714H0 B:AHLLE—H—I PR R el
= N # 6 | LERFE 1:33.0 2-2-2-4 |41.2| — 8 442 | EEEE (BFH)
511 N=—7x AN 54.0 (@) Co | EEEGE
LG4 7 hT—EY B:FyXTz4T7— sk e
617110 ¥E>2F1 L4 4 5 %{'&ﬁiﬂ 1:(323).4 9-9-9-9 |40.2| — 6 443 ﬁ;ﬁ;&f}‘%iu)
Q:TUF—y BiF—HU—51 L 2D | peasm
4 5 | MEHEE] 1:33.8 11-11-10-8 | 40.5 | — 5 461 | BREZ (SH)
YILF¥ 56.0 @) (4 |PIBBOY
A=V RA LA BILATY—T 41— AH tH
¢ 3 S 4 8 | AREE 1:34.1 12-12-12-11| 40.5 | — 7 490 |NHFEH FH)
TN NIV > 56.0 (1 1/2) (o) | AvEFA
XTIy 84K Bix—vUI=yda RS 455
AXEYLLER # 8 gﬁﬁ 1( 734t>2 5-6-7-10 | 41.5| — 1 507 ;‘2;; ﬂl(‘.:%-%u)
R:T7INHEY N BUSCTF KT b (-1 BEE A
B/ XIS w2 R 7 ﬁ%aﬁ*ﬂﬁ (11:314/.25) 3347 |42.3| — | 10 | 48 %g?ﬁ (&)
Q:o07% BiHI TRy TLT O ks
> i =, o7 | BESK 1:35.4 8-7-6-6 |42.8| — 2 534 | EE&E— (SH)
XN =TZ 56.0 @ (cay |EHER
L:hzxex) BEi-T11NF72X BB
P TS 4 o8 | Wik 1:36.1 10-10-11-12| 42.7 | — 12 | 482 |BIFFES] (&H)
2/ 2TZ74 b 56.0 3) (o) | EHER
R:TF4=TA2N9 b BIRZ—-XTr—Fa1> AL
@ 1—F—@&BIEf
13=7r= 11,1,3,9,6,12,5,2,10,4,8,7
23—+ — 11,1,3,9,12,6,2,5,10,4,8,7
3a—+— 11,1,9,3,12,2,6,5,10,8,4,7
A==k — 11,12,9,1,5,2,3,8,10,6,7,4
[ RN
B OB 1 380H 714K 5-11 600 e & 5-8 830M 3ER 5-11-12 6,580
7 B 1 180 11-12 1,170 | | B = 5-11 1,280 | | 3:&E [ 11-5-12 29,790M
5 230M 5-12 1,890 B H 11-5 2,100/
12 410M

ARICOVWTRDTEEERROODE. TR LI,



